Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.2.dwg

STEVES AND SONS

203 Humble Ave.

San Antonio, TX 78225

STEVES

1/4 LITE 3 LITE

DIRECT GLAZED FIBERGLASS DOOR
DOUBLE

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building

Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be protected

with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

buck masonry construction.

a licensed engineer or registered architect.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x

Site conditions that deviate from the details of this drawing require further engineering analysis by

I 1 7 1 7
4 4 N7 0 7
X 4 4 4 4
X 4 e

X

1/2 LITE 4 LITE 3/4 LITE 6 LITE FULL LITE 8 LITE

LEGACY CLEAR COLLECTION

w/ SIMULATED DIVIDED LITES

74" MAX. OVERALL
FRAME WIDTH

FULL LITE {*

i

81.5" MAX. O.A
FRAME HEIGHT (INSWING) ™|
80.75" MAX. O.A.

/ /
VA VA

/ /
Vi VA

~ " FRAME HEIGHT (OUTSWING) ™
x
(-]
>

TABLE OF CONTENTS

SHEET # | DESCRIPTION

SHEET #

74.0" x 81.5"

1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (1X Buck)

2 Door Panel Details 7 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Panel Options 8 Vertical Cross Sections

4 Elevations 9 Buck & Frame Anchoring & Hardware Details

5 Horizontal & Vertical Cross Sections (2X Buck) 10 Bill of Materials & Components

June 7, 2022

7,

NAL %}\\

e AL
7 @ ®%ecc00 *
//,Ilslo
Imnmt
BUILDING CONSULTANTS, INC.

7
%
P.O. Box 230, Valrico, FL 33595

Phone No.:

W

Documnents Prepared By:«=,\Ja %

Lyndon F. Schmidt
P.E. No. 43409

R

813.659.9197

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

REVISIONS

NOJ DATE

DATE: 4,/20/22

SCALE:  N.T.S.

DWG. B:  RW

CHK. BY: LFS

DRAWING NO.:
FL—41479.2

SHEET _1_ oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



. ZAClients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020\FL-41479.2.dwg

IR I L —— EXTERIOR |- 1.2" e ) A" ]
0.5" @@ — 05
=1\ [T - )
] o F . % caal) COMPOSITE %
-L('\) - 'Y ;‘5 3 ) 'S 4 &% R 3 s . 4 ’ §= =§ .b CAP \ <
__' 3 . . . KK "’p.' i
© BA T oba I / \ \ Ada . /, > .
s * ‘ //,,
77
INTERIOR LATCHSTILE  COMPOSITE &~ iy
HINGE STILE INTERIOR LOCK BLOCK &
e /1" HORIZONTAL CROSS SECTION 19.75'LONG (v CAP TOP RAL !
\2/ (LVL)
2 A
GLASS BITE LT
— 1"O.A. THICK GLASS S
INTERIOR FIBERGLASS SKIN — "] T,
| - gl . R A
e L\ 1/8" TEMPERED GLASS T
" |~ DECORATIVE INSERT -
SINGLE LITE (8X) GLAZING 0t a \ y’ "
9-5/8"X 14-1/2' D.L.O. COMPOUND el . > I/ A
Ny AIR SPACE AN
w/ FALSE MUNTINS T ? NI Y
__ 35.75" MAX. DOOR __ 35.75"MAX. DOOR TERIOR 1/8" TEMPERED GLASS S
WIDTH WIDTH - ALUMINUM SPACER
21" MAX. D.LO. 21" MAX. »
WIDTH - DLO. — G1) GLAZING DETAIL
D WIDTH Full Lite
]
] /2!! e l;l
J N/ Vi GLASS BITE EXTERIOR INTERIOR
m / - . INTERIOR 1" OVERALL GLASS THK. %
Y < < g R R _—1/8' TEMPERED GLASS E
.. b
= i (/// //// } E A Fa
% = 3 - 3 ' b \QA:R SPACE o ™~
e g I A B 1
. 1/8" TEMPERED GLASS
S % 2 X G bj_,‘_ = o © _L__ \ T /8 «.
Q =T s / / EXTERIOR v
S %0 ® =5 V4 7 o — ALUMINUM SPACER .4,
X 95 A~ % S35 ? GLAIING A\
= ° a COMPOUND N
R - ; @ GLAZING DETAIL AT
SEE HARDWARE 4 VA Simulated Divided Lites e T
, TABLE (TYP.) ' ' R
VA FOAMCORE— [, . ! &
2 (POLYURETHANE) R -
BOTTOM RAIL _——1 §
REINFORCEMENT
(Lvi) i
2 cwiksgy | LATCH: SIGNATURE SERIES :
DEADBOLT:  SIGNATURE SERIES (980) somom ra—TE L
FIBERGLASS DOOR PANEL FIBERGLASS DOOR PANEL SCHIAGE | HATCH: F51 (COMP))
40 . 40 ) = DEADBOLT:  B&ON
Full Lite imulated Divided Lites
Ao PREMIOM FANDLESET ("2 \ VERTICAL CROSS SECTION
] ROCKWELL ‘ 2
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. DEADBOLT:  PREMIUM DEADBOLT \2/
CORE MATERIAL: POLYURETHANE FOAM

+

T3\

June 7, 2022

BUILDING CONSULTANTS,

P.O. Box 230, Valrico, FL 33595
Phone No.: 813.659.9197

FBPE Registry No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

FIBERGLASS DOOR
DOOR
PANEL DETAILS

STEVES & SONS
PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4,/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41479.2

SHEET _2 ofF 10

© 2022 R.W. BUILDING CONSULTANTS ING.




TON SINVIANSNGD aNa iing

MY 2202 O

€186 ‘ON Ansibay Idg4

SNOISIATY
LBLE'6SO'CLE 'ON Buoud 8 31vd_JON ~lo
SBSEE 14 ‘O9UIDA ‘OSZ XoF ‘O'd \SV SNOULdO TaNVd N 1_
'ONI ‘SINVITNSNOO ONIdTIng @v XTEW3SSY 90 1vd N L35
wWheNd iy, 400 SSY19¥3gld N €3 ||
S O/, 80YEY ‘ON "I'd < lglzle
////0 ...&‘Oww.@.u.«....ﬁ. %, WPIWUSS 4 UopuAT SNOS % S3A3LS i TMME i
S "o V72 :Ag_peindesd syuewnoog :LONA0¥d 8 m HEE &
n.. ] K 70T L sung
E3 60¥EYON ; =
‘\ .r. "- ,,I
\ .' 't
G S
\ [ TX2) .
1, WHOS W
gy
. E
—
=
N )
Ll
[ A%}
=
“x. “x. ~x. ~ -
- ©
7%}
-
“xe X T X -
wond
" |
>
L
Ol w
W
| — —._.m
Q5
L Q
w—l
" = A
= O =
~. . . > Q >
Y] M
—
X . . = < Q
< wi
) rerd B ¢
O =
-
D~ s
Ol &
< 2
O| =
Ly
L |
LA
[
Rl Xl 4
(%]
=
“x. “x. =
o~
~
o
[ 28}
o
—
o
Ll
o
-
<t
~
—

BMP'Z 6.7 LY-T4\0202) 6.1 LP-T\sBUIMEIQ - D\STIYIS ADVDIT 6.1 - T-\s|er01ddy 1onpoid epLO]S - Y\IUBUBULIBG - SUOS PUB SaASIS\SIUBIID\Z



TON] SANVYLTIASNDOD SNIQTING "M°Y 2202 @

£186 ON Ansibey 1dgd SNOISIAGYA
LBLE'6G9°CLR ON ouold A8 31vd TONJ ey N[O
SESEE 4 ‘OOUIPA ‘0T Xod "O'd § SNOLLVAT NI i I H_
8.:. ..mkz,qbamzoo oNIging gﬂ XT@N3SSY 80 1uvd S M . <8
iy g %
il 11, 4004 SSYT1o434ld NIRRT
O JKQO\Q%\\ BOYEY ‘ON F'd SNOS # SIAILS W & glg | |
///mv...aoﬁoqu... %, PIUYSS "4 uopuA g m s|g|E T B
~ &... .... “.:Ag peiodaeid SUBWIND0QG <10NaoHd S8 W 515 %
; B X 70T ‘L ounf
¥: ¥ =
F 60vEY ‘'ON ;-
‘\ .'. ..- ,,I
\ .‘ -
~, &O.wmzm% A S
%, TWEHDS 3o

o
Yo
/2
\8 /
ELEVATION
XX

BMpZ6LrLy-14\0202) 6.7Ly-1ASBUIMEIQ - D\STIYIS ADVDT1 6¥Ly-Td\sleroiddy 1npoid BPLOY - Y\IUBUEULIA - SUOS PUE SEASIS\SIUSIDNZ



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.2.dwg

L~
v
<

v

<

=~

v
<
L, <
v
d
SILTILLILY

.4
4 - .
. ra

Zo
o 0.15" C-SINK zE
. B E— <t .
P ] (rv) Yy
S —= — W
4 A ) SRRV
oo 0 INTERIOR
7 THEHRIT
. . A s 4
I3 ) ) .
4 . ' a SRR ARANE NNV | \\
o /: EXTEROR I mreRor
o,

/ 2"\ VERTICAL CROSS SECTION

EXTERIOR 5 / Shownw/ 2X Buck

& I

Outswing shown

1-1/4" MIN.
EMB. {TYP.)

/"1 "\ HORIZONTAL CROSS SECTION

w Shownw/2XBuck

Qutswing shown {Inswing similar)
SEE NOTE 1
%
. //z’
Note: /4 "\ HORIZONTAL CROSS SECTION

1. Screws located 8" from each end of astragal plus \5_/ Outswing shown (Inswing similar)
four (3) more located @ 23", 37" & 48" down from A
the top of the astragal (5 screws fotal - countersink 3/16").

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

'/

INTERIOR

/"3 VERTICAL CROSS SECTION

5

Shown w/ 2X Buck
inswing shown

']
2]
0
.0
oM
z
L=
m.'*mn
.-
E down
Z Oqo
<Lm
= = .
AL
g.'f-’
[»]
N 5§ 2o &
5 O N - b
o, [
38 gz
£ €p £my
2 £o 0" cw
P
e Ay 502§
QI ¢ Donw
ols o
~lE 5%
L3 U,
5|8 su
=% [~ IR
%
2SS
Om
0S| Ex
s8] &
wn
.. [%2)]
$3|3 92
MES
nal|3 E&
un:uza
Q2 Sh
=OiY N
. 0@ W0
5 x| SV
= o T8
S Bl ©
0. o
>.
m
%)
d
O
0
|
o
o
z
n
wl 1E
[ <
< b
al |3
1]
-x Z
(@] ju}
=z ]
9
DATE: 4/20/22 |z
0
e NTS. |3
DWG. BY: RW o
cHK. B:  LFS 2
DRAWING NO.: z
FL—-41479.2 g
N
SHEET _ 5 oF 10 o




TON} SINVLINSNOD aNiaing "M'd 2202

€186 ‘oN Ausibey Id84d (40n8 X1) SNOLLOIS SSOMD SNOISIATY
LBL6°6S9°'CL8 "ON 8uoyd i
GBGEC T4 'OOMDA ‘0gZ Xog 'O'd Ev TYOILYEA % TTVINOZIYOH Ad LvQ _[ON S A M m*
o_7.=_ mw.rzﬁ._:mzoo oNIaling @ INIBW3SSY "0 18vd W | RN R
/fﬂ”%f(&%\m\\\\ 60bSH 'ON ‘I'd 4000 SSVI9UTEld W = 53 : .4__,: 6_
AR\ R T . SNOS % S3AILS mEAEE
/// .N/.«.v AOEO.E...@ \\\ PHUYDS *4 uopuil i m o | m iy B
S 10nao¥d S|18I8|518 &

x

60vEY 'ON

\\\&Q\SIOm 3 ,/////

INTERIOR

7“3\ VERTICAL CROSS SECTION
\U Shown w/ 1X Buck
Inswing shown

EXTERIOR

,,,,,,,,,,, ('dAL) 'gW3
NIW 7/ 1-1

@

N

W

/ 2"\ VERTICAL CROSS SECTION

\U Shown w/ 1X Buck
Outswing shown

s
EXTERIOR

('dAL) "awW3
"NIW /-1

INTERIOR

)

S
1-1/4" MIN. %
EMB. (TYP.)
/"1 "\ HORIZONTAL CROSS SECTION

WShownw/ 1XBuck
Outswing shown (Inswing similar)

o - . v T
- e
L8 2 =
v -4 3 : IS
v v [vd o~ ~ . .
. . > v Tt = .
- ” ¥ > v = . :
-2 RN~ S e v ;
I3 - 2 . .
z v
T X

BMpZ6LpL-14\0202) 627 Lp-T4\sBUIMEIQ - D\STIYES ADVOTT 6L7LY-14\s]eroiddy 1nPoid BpLOlS - Y\IUSUBWIS - SUOS pue SBAsIS\SIUaIIDNZ



ON| SINVYLANSNOJ anNiating "m'd 2202 O

REREETI
\ +f

£186 ON Ahei0oy Idad (AMNOSYA 0L 193410) SNOILO3S SNOISIAZY
LELE'68G9'C LY "ON 8UOyd 3
Sssse 4 ‘oauion ‘ocz 08 0a flf of S5O0 TWOLAEA % TINOZHOH Ad AV N N slzlo] S|
ot .vmkzs,._amzoo oNIging \&« TIEWISSY 90 1avd SRS S s
/z:— 114, Q= g <IN
///Mkﬁ J(ZO\@\\\\\ 80%SH ‘'ON "3'd m%%%m m%ﬁwmwm% V £lg 3 *
ST oy Ny, s 4 uopuAy uldle|2ET|B
Pl&... .... 3\\Sm peindeld sjuswNdOQ 1oNA0¥d 318 W 5 m %
H = 720z °L dung
.<. ¥ S
] 6OVEYON  § =
z - s 8
\\ &no.a& o.'o-_ ,I
\\ 0-.0000 \" //
\\\\\Q\SIOm Wc.///
Uy
[+°4
9]
i =
—_
= o
G
o
3
a8
Al
Siee
2|85
3] (=h
=ic?
aci2s
wle 3
SIS
. o™i~
o)
]
%
{dAL) "aw3
NIW ./ 1-L
{"dAL) "aw3 o
NIW ./ 1-L
oL
o)
[»"
m_
£ e
O
5
S|
2
als
Q=
acloS
Of=3
3es
upp?
=g
|52
m >150
&
o o
wi

5 o
-7, &

i > -

z y/i \M\mv ol _

B

9

>

AcC

[

@ zz 35

Zo ez

£ Efge

g Q52

Tz Nt

&332

o125

=0

N

BMPE'6.7L-14\0202) 6.1 Ly-1a\sBuUMeId - D\SIINIS ADYOTT 627 Ly-T4\s|eAciddy 1onpoid BpLOjd - Y\JUBUBWIdG - SUOS PUe S3A3IS\SIUBIID\Z



TON] SINVATIMNSNGT aNIgTing ‘Mm'sl 2202 @

2 lilliss

€186 'ON Ansibay Idgd SNOLLDIS SNOISIATY
LBLB'6G9'CLY] "ON 8uoud 4ivd [ON N O
Seses 14 ‘osuen ‘o5z %0 05 /I SS0H0 TVALLHIA = Q| v|z|0] o 3
NI ..mhzﬁ._:wzoo oNIgINg M% IENISeY ¥0 Lavd WW %8
WG 1, 4000 SSY1943al3 el E T
g WNOleer, 60YSY "ON “I'd SNOS % S3AILS slglg |
//zm.v....coioﬁ... %, IPILYDS "4 uopuky ] w_ sl w gl
> . :1onaoNd 2132|585l |3
w , | ,,».‘ 4 - m
& L =
e e O
W N ? a4 -.&
‘@ @ - ® g
a >A m m
e, 4 C.mmv
“ [- ™ —d =
{ A m mv
SIE
s s
- » >0
w B : mw
=z (&
= © (drl) ana
E NIW K/ L-1
"
i B =
o
o O
@) )
: :
& g *) Bl
© ol
- L
C
Ul's
E|2
S(g
mw
» <T
Q - | (dAL) "8G
o NIW #/1-L
o ®
o
bl
Z

BMpPZ6L7LY-14\0202) 6L7Ly-1H\sBuImeIq - D\SIIS ADYDI1 6.1 F-14\s|eroiddy 1onpoid epLiold - Y\UBUBWIR - SUOS pue 53ARIS\SIUalD\Z



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.2.dwg

FRAME CORNERS ATTACHED w/ (3) 7/16" \\\\‘ g ‘,
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2) S - /l//o/,,
" @ #7 X 1-5/8" DRYWALL SCREWS @ HEAD & SILL N O “;,, P
— i (TYP.) S Wz B
(TYP') [" 2u TYP " : g:.g 3.‘. J:d Q
ooty P - I (u .) = 3" ‘TYP') 7 «6 (TYP‘) E osg gsgsg d g
R ot s B e A, # 4 P) —— | 2035 T8Iy .o
P 5 , , — 2 iz igk
Sl I I IRI | D Fos 3585
.‘- _4 T —— -—T //,/ ----- .o " D&\\\ a > 'fi =z
o 2 o HPRERS 227
= < ©& z3 SEE HINGE SN o
L - ~ = + x
- et — S O < - O Qo XZ 9
2x BUCK 25 DETAL 1E, £3.°
lXBUCK B (TP <lEo3 398w
2XBUCK 1L -+ FRAME [l DIRECTTO e —f — > Sle v
HEAD & JAMBS MASONRY '\ ASTRAGAL/SURFACE g §% §
\ (TYp) HEAD & JAMBS || goL1 STRIKE BOLT 7B Bl Ey
L 4 . (TYP. DETAILS 1 ? >\ B2 5o
O — T SEELATCH
| o< 2
GE 2E 8 DEADBOLT £
N - — - &= © DETAIL 0&| 22
— T3 i 58| 8L
5 — 0 [
3 _ DOOR SILT = - . <=
i —t 8E — (TYP) I I '_ 5] 5 ;5' E:%
O = - 3T y é:n & &g
RO 3 2( ~ “ éh.l n [a'd
L e TN = LB R(Y s
/ HINGE JAMB COMPOSITE ASTRAGAL 5 5 S
7" STEEL FLIP LOCK FLUSHBOLT (5/16" @) 2 el @
MASONRY @ EACH END OF ASTRAGAL x %
2X BUCK ANCHORING FRAME ANCHORING =
DIRECTTO o
MASONRY
W 1X BUCK
DIRECT TO
MASONRY N 2XBUCK
DIRECTTO o Lilo~ll n
MASONRY IXBUCK N @é; je \@ S
1X BUCK 2X BUCK ASTRAGAL BOLT @\ u %
HOLE 1
@ 2X BUCK / @:>® \ i
@ \‘ f U =t HINGE DETAIL
e} =t 1 INSWING
[y [PC_I W é‘ ‘:Dl; > ~ @< i P’——@
[o\ —fJ ﬁ - ¢ \ DIRECTTO
S ] MASONRY w
/ A\ 1X BUCK <
2X BUCK( J @ SILL LATCH & DEADBOLT DETAIL o
@ 1X BUCK @HEAD o T s 2X BUCK 3
- ® |10~
DIRECTTO e ]| ot DATE: 4./20/22
@HEAD MASONRY @éﬂ e @ p— /N T/S
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS \) DWG. BY: RW
INSWING OUTSWING ' ok Br:  LFS
HINGE DETAIL DRAWING NO.:
HARDWARE DETA"_S OUTSWING FL—41479.2

SHEET _9 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.2.dwg

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) WwOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

H 3/16" X 3-3/4" PFH ITW CONCRETE SCREW STEEL

J #10 X 3" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.} STEEL

M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL

P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 COMPOSITE JAMB COMP

7 WEATHERSTRIP FOAM

8 SWEEP VINYL

9 4" X 4" HINGE STEEL

11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
30 8" SURFACE BOLT (HAGER 275D) STEEL

31 SURFACE BOLT GUIDE PLATE STEEL
32 SURFACE BOLT STRIKE PLATE STEEL
33 #10 X 2-1/2" PFH WOOD SCREW STEEL
37 ASTRAGAL STRIKE PLATE STEEL
38 ASTRAGAL {COMPOSITE) COMP
39 #10 X 2" FH SMS STEEL
40 DOOR PANEL -

41 #7 X 1-5/8" DRYWALL SCREW STEEL
42 #8 X 2-1/2" FH SMS STEEL

1.25"

4.56"

0.758"

1

1.44"

|~ 213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

5.62"

14 INSWING THRESHOLD

Columbia

wood screws fo prevent the splitting of wood.

sHEET 10 oF 10

Ty}
[}
- 1.44" -] 8
% (]
= .J
@ EB5m
280
gt
Hoog
302
(7 ZJdwx
IS ) SR .5
- B o x2 9
£ E z g K
g £2 a Ew
639 2564
2 a8 502np
QI ¢+ Doadw
L8
s 8
0.94" ~fg 52 §
gl3 2w @<
@ COMPOSITE ASTRAGAL 218 3o
o
s n
go| =E
e EZ
3|y E3
n3l@ 5%
" f < 8 o LS
2.4 ) Ll S
| | i o 2|9 ds
I = 5 x| &
. &= 2 ©
[o0] -
o o
i . >
n
4.6" r[
15 OUTSWING THRESHOLD
Columbia
)
zZ
Q
0
ol
or
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted to maintain the min. .
edge distance to mortar joints. 2
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 0
maintain the min. edge distance to mortar joints, additional concrete anchors Ll 5
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 'Z: g
. Concrete anchor fable: al |3
o 4]
_________ ol |&
z| lo
- 1.1 i a
SCALE:
TAPCON® 1/4" 1-1/4" rg N.T.S. 2
DWG. BY: RW @
DeWALT 1/4n 1 1 1 ] "
ULTRACON? -1/ ! 4 TR E
WOOD SCREW INSTALLATION NOTES: DRAWING NO-: N
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41479.2 o
N
©



